121 College Algebra Name ID: 1
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Solve each equation.
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Solve each equation by factoring.
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Solve each equation. Round your answers to the nearest ten-thousandth.
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Solve each equation.
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Perform the indicated operation.
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MI121 College Algebra Final
PRACTICE SHORT ANSWER

_ State the number of complex roots, the
possible number of real and imaginary roots,
and the possible rational roots for each
equation. Then find all roots. N ?
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Sketch the graph of each function.
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Identify the domain and range of each. Then
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sketch the graph.
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State the possible rational zeros for each
function. Then find all rational zeros.
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Identify the center and radius of each. Then sketch the graph.
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Identify the points of discontinuity, holes,
vertical asymptotes, and horizontal asymptote
of each. Then sketch the graph.
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State the maximum number of turns the graph
of each function could make. Then sketch the
graph. State the number of real zeros.
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